
X[0] <= 0.5
mse = 1.08

samples = 26271
value = 0.006

X[17] <= 0.5
mse = 0.782

samples = 20525
value = 0.279

True X[16] <= 0.5
mse = 0.91

samples = 5746
value = -0.983

False

X[21] <= 1.473
mse = 0.182

samples = 1161
value = -0.111

X[19] <= 0.042
mse = 0.808

samples = 19364
value = 0.302

X[19] <= -0.932
mse = 0.178

samples = 1100
value = -0.095

X[1] <= 0.5
mse = 0.176
samples = 61
value = -0.392

X[12] <= 0.5
mse = 0.149

samples = 347
value = -0.014

X[1] <= 0.5
mse = 0.186

samples = 753
value = -0.131

X[3] <= 0.5
mse = 0.135

samples = 310
value = -0.031

X[16] <= 0.5
mse = 0.251
samples = 37
value = 0.134

X[16] <= 0.5
mse = 0.094

samples = 161
value = -0.066

X[20] <= 0.5
mse = 0.176

samples = 149
value = 0.008

mse = 0.093
samples = 160
value = -0.07

mse = -0.0
samples = 1
value = 0.429

mse = 0.167
samples = 141
value = 0.025

mse = 0.244
samples = 8

value = -0.303

X[21] <= -1.331
mse = 0.225
samples = 36
value = 0.157

mse = 0.0
samples = 1

value = -1.154

mse = 0.434
samples = 12
value = 0.437

mse = 0.094
samples = 24
value = 0.042

X[29] <= 0.5
mse = 0.136
samples = 36
value = -0.419

X[22] <= 0.5
mse = 0.185

samples = 717
value = -0.119

X[7] <= 0.5
mse = 0.126
samples = 22
value = -0.515

X[7] <= 0.5
mse = 0.092
samples = 14
value = -0.207

mse = 0.072
samples = 21
value = -0.471

mse = -0.0
samples = 1

value = -1.821

mse = 0.055
samples = 13
value = -0.263

mse = 0.0
samples = 1
value = 0.519

X[16] <= 0.5
mse = 0.2

samples = 498
value = -0.147

X[16] <= 0.5
mse = 0.143

samples = 219
value = -0.057

mse = 0.197
samples = 493
value = -0.153

mse = 0.228
samples = 5
value = 0.261

mse = 0.142
samples = 212
value = -0.045

mse = 0.074
samples = 7

value = -0.336

X[11] <= 0.5
mse = 0.064
samples = 4
value = -0.9

X[30] <= 0.5
mse = 0.162
samples = 57
value = -0.349

X[21] <= 1.687
mse = 0.005
samples = 3

value = -0.759

mse = 0.0
samples = 1

value = -1.324

X[12] <= 0.5
mse = 0.002
samples = 2

value = -0.731

mse = 0.0
samples = 1

value = -0.899

mse = 0.0
samples = 1

value = -0.763

mse = -0.0
samples = 1

value = -0.683

X[14] <= 0.5
mse = 0.177
samples = 43
value = -0.404

X[18] <= 0.5
mse = 0.076
samples = 14
value = -0.179

X[11] <= 0.5
mse = 0.175
samples = 38
value = -0.361

X[9] <= 0.5
mse = 0.071
samples = 5

value = -0.741

mse = 0.144
samples = 22
value = -0.221

mse = 0.155
samples = 16
value = -0.542

mse = 0.047
samples = 3

value = -0.548

mse = 0.021
samples = 2

value = -0.934

X[19] <= 2.586
mse = 0.037
samples = 9

value = -0.319

X[4] <= 0.5
mse = 0.044
samples = 5
value = 0.084

mse = 0.008
samples = 8

value = -0.365

mse = -0.0
samples = 1
value = 0.322

mse = 0.017
samples = 4

value = -0.017

mse = 0.0
samples = 1
value = 0.389

X[6] <= 0.5
mse = 0.692

samples = 11458
value = 0.358

X[16] <= 0.5
mse = 0.965

samples = 7906
value = 0.221

X[2] <= 0.5
mse = 0.502

samples = 11328
value = 0.351

X[16] <= 0.5
mse = 15.876
samples = 130
value = 0.963

X[1] <= 0.5
mse = 0.451

samples = 5427
value = 0.311

X[5] <= 0.5
mse = 0.545

samples = 5901
value = 0.387

X[16] <= 0.5
mse = 0.564

samples = 508
value = 0.163

X[9] <= 0.5
mse = 0.437

samples = 4919
value = 0.326

mse = 0.528
samples = 497
value = 0.177

mse = 1.692
samples = 11
value = -0.414

mse = 0.335
samples = 4007
value = 0.343

mse = 0.896
samples = 912
value = 0.25

X[19] <= -0.621
mse = 0.358

samples = 1976
value = 0.336

X[13] <= 0.5
mse = 0.639

samples = 3925
value = 0.413

mse = 0.342
samples = 1240
value = 0.367

mse = 0.38
samples = 736
value = 0.283

mse = 0.379
samples = 3117
value = 0.394

mse = 1.648
samples = 808
value = 0.485

X[21] <= -0.048
mse = 0.253

samples = 121
value = 0.464

X[2] <= 0.5
mse = 197.593

samples = 9
value = 8.906

X[14] <= 0.5
mse = 0.224

samples = 111
value = 0.414

X[21] <= -0.02
mse = 0.233
samples = 10
value = 1.026

mse = 0.189
samples = 107
value = 0.437

mse = 0.784
samples = 4
value = -0.18

mse = 0.038
samples = 3
value = 1.548

mse = 0.045
samples = 7
value = 0.66

mse = 0.0
samples = 1

value = 34.232

X[26] <= 0.5
mse = 6.731
samples = 8
value = 1.309

mse = 3.734
samples = 7
value = 0.697

mse = 0.0
samples = 1
value = 6.816

X[21] <= 2.157
mse = 0.658

samples = 7531
value = 0.201

X[27] <= 0.5
mse = 6.813

samples = 375
value = 0.609

X[2] <= 0.5
mse = 0.648

samples = 7227
value = 0.217

X[10] <= 0.5
mse = 0.751

samples = 304
value = -0.163

X[9] <= 0.5
mse = 0.786

samples = 3960
value = 0.165

X[19] <= 0.739
mse = 0.474

samples = 3267
value = 0.279

mse = 0.788
samples = 3119
value = 0.203

mse = 0.756
samples = 841
value = 0.028

mse = 0.459
samples = 1865
value = 0.325

mse = 0.487
samples = 1402
value = 0.217

X[21] <= 2.168
mse = 0.883

samples = 139
value = -0.313

X[6] <= 0.5
mse = 0.607

samples = 165
value = -0.039

mse = 0.002
samples = 3
value = -1.7

mse = 0.857
samples = 136
value = -0.28

mse = 0.567
samples = 163
value = -0.012

mse = 0.68
samples = 2

value = -1.439

X[2] <= 0.5
mse = 7.866

samples = 253
value = 0.872

X[19] <= 1.065
mse = 3.893

samples = 122
value = 0.009

X[21] <= 1.97
mse = 10.286
samples = 144
value = 1.367

X[18] <= 0.5
mse = 3.93

samples = 109
value = 0.219

mse = 8.746
samples = 125
value = 1.065

mse = 15.904
samples = 19
value = 3.415

mse = 5.497
samples = 70
value = 0.514

mse = 0.887
samples = 39
value = -0.278

X[21] <= 0.445
mse = 5.224
samples = 75
value = 0.283

X[19] <= 2.325
mse = 1.226
samples = 47
value = -0.468

mse = 0.727
samples = 27
value = -0.508

mse = 7.108
samples = 48
value = 0.705

mse = 0.825
samples = 43
value = -0.613

mse = 2.907
samples = 4
value = 1.03

X[1] <= 0.5
mse = 0.643

samples = 5067
value = -1.039

X[21] <= -1.355
mse = 2.691

samples = 679
value = -0.573

X[19] <= 0.214
mse = 0.403

samples = 353
value = -1.228

X[21] <= 1.216
mse = 0.658

samples = 4714
value = -1.024

X[20] <= 0.5
mse = 0.491

samples = 168
value = -1.106

X[2] <= 0.5
mse = 0.299

samples = 185
value = -1.337

X[21] <= 0.201
mse = 0.36

samples = 128
value = -1.178

X[19] <= -0.078
mse = 0.866
samples = 40
value = -0.853

X[13] <= 0.5
mse = 0.345

samples = 127
value = -1.199

mse = -0.0
samples = 1

value = -0.121

mse = 0.375
samples = 104
value = -1.15

mse = 0.123
samples = 23
value = -1.442

X[19] <= -1.218
mse = 0.535
samples = 38
value = -1.032

X[24] <= 0.5
mse = 0.305
samples = 2
value = 1.109

mse = 0.292
samples = 8

value = -1.365

mse = 0.561
samples = 30
value = -0.948

mse = 0.0
samples = 1
value = 0.432

mse = -0.0
samples = 1
value = 1.56

X[29] <= 0.5
mse = 0.316

samples = 171
value = -1.304

X[21] <= 0.906
mse = 0.049
samples = 14
value = -1.635

X[19] <= 0.875
mse = 0.307

samples = 139
value = -1.347

X[19] <= 1.298
mse = 0.304
samples = 32
value = -1.091

mse = 0.393
samples = 59
value = -1.213

mse = 0.225
samples = 80
value = -1.442

mse = 0.229
samples = 20
value = -1.295

mse = 0.256
samples = 12
value = -0.773

X[3] <= 0.5
mse = 0.005
samples = 7
value = -1.73

X[29] <= 0.5
mse = 0.082
samples = 7

value = -1.413

mse = 0.001
samples = 4
value = -1.68

mse = 0.002
samples = 3

value = -1.811

mse = 0.038
samples = 5

value = -1.292

mse = 0.0
samples = 2

value = -1.838

X[17] <= 0.5
mse = 0.672

samples = 3689
value = -0.996

X[5] <= 0.5
mse = 0.6

samples = 1025
value = -1.119

X[22] <= 0.5
mse = 0.24

samples = 156
value = -0.794

X[19] <= -1.52
mse = 0.689

samples = 3533
value = -1.005

X[21] <= -1.456
mse = 0.163
samples = 87
value = -0.921

X[21] <= -1.253
mse = 0.293
samples = 69
value = -0.62

mse = 0.009
samples = 2

value = -1.346

mse = 0.161
samples = 85
value = -0.905

mse = 0.237
samples = 4
value = 0.059

mse = 0.248
samples = 65
value = -0.688

X[19] <= -1.521
mse = 2.729
samples = 8

value = -0.406

X[12] <= 0.5
mse = 0.682

samples = 3525
value = -1.006

mse = 0.708
samples = 7

value = -0.976

mse = -0.0
samples = 1
value = 3.302

mse = 0.726
samples = 2842
value = -0.992

mse = 0.493
samples = 683
value = -1.065

X[14] <= 0.5
mse = 0.534

samples = 389
value = -1.201

X[25] <= 0.5
mse = 0.631

samples = 636
value = -1.072

X[19] <= 1.869
mse = 0.524

samples = 335
value = -1.236

X[4] <= 0.5
mse = 0.538
samples = 54
value = -0.973

mse = 0.712
samples = 187
value = -1.142

mse = 0.262
samples = 148
value = -1.354

mse = 0.554
samples = 47
value = -0.918

mse = 0.191
samples = 7

value = -1.415

X[19] <= 1.711
mse = 0.564

samples = 468
value = -1.115

X[20] <= 0.5
mse = 0.807

samples = 168
value = -0.948

mse = 0.341
samples = 240
value = -1.198

mse = 0.778
samples = 228
value = -1.029

mse = 0.45
samples = 141
value = -1.019

mse = 2.32
samples = 27
value = -0.623

X[18] <= 0.5
mse = 8.718
samples = 18
value = 0.89

X[21] <= 1.395
mse = 2.48

samples = 661
value = -0.611

X[11] <= 0.5
mse = 11.4
samples = 9
value = 2.681

X[21] <= -1.459
mse = 0.489
samples = 9

value = -0.772

X[3] <= 0.5
mse = 9.34
samples = 7
value = 3.478

X[2] <= 0.5
mse = 0.0

samples = 2
value = -1.705

X[12] <= 0.5
mse = 0.026
samples = 2

value = -1.388

X[21] <= -1.486
mse = 4.978
samples = 5
value = 4.559

mse = 0.0
samples = 1

value = -1.226

mse = 0.0
samples = 1

value = -1.551

mse = 0.0
samples = 1
value = 1.115

mse = 2.042
samples = 4
value = 5.543

mse = 0.0
samples = 1

value = -1.694

mse = 0.0
samples = 1

value = -1.716

X[4] <= 0.5
mse = 0.015
samples = 2
value = 0.63

X[21] <= -1.404
mse = 0.185
samples = 7

value = -1.006

mse = 0.0
samples = 1
value = 0.509

mse = 0.0
samples = 1
value = 0.752

X[10] <= 0.5
mse = 0.058
samples = 4

value = -0.797

X[19] <= -1.389
mse = 0.046
samples = 3

value = -1.632

mse = 0.0
samples = 1

value = -1.022

mse = 0.048
samples = 3

value = -0.684

mse = 0.0
samples = 1

value = -1.332

mse = 0.002
samples = 2

value = -1.781

X[24] <= 0.5
mse = 2.074

samples = 517
value = -0.69

X[21] <= 1.398
mse = 3.735

samples = 144
value = -0.349

X[19] <= 0.219
mse = 1.715

samples = 394
value = -0.794

X[13] <= 0.5
mse = 3.092

samples = 123
value = -0.354

X[3] <= 0.5
mse = 2.459

samples = 196
value = -0.613

X[5] <= 0.5
mse = 0.978

samples = 198
value = -0.958

mse = 0.879
samples = 53
value = -0.958

mse = 2.98
samples = 143
value = -0.487

mse = 1.642
samples = 69
value = -0.694

mse = 0.59
samples = 129
value = -1.092

X[19] <= 0.715
mse = 2.516
samples = 83
value = -0.56

X[21] <= 0.463
mse = 4.066
samples = 40
value = 0.103

mse = 1.736
samples = 65
value = -0.799

mse = 4.404
samples = 18
value = 0.319

mse = 5.636
samples = 21
value = 1.011

mse = 0.709
samples = 19
value = -0.836

mse = 0.0
samples = 1
value = 6.911

X[19] <= 2.504
mse = 3.115

samples = 143
value = -0.439

X[21] <= 2.456
mse = 3.385

samples = 123
value = -0.284

X[2] <= 0.5
mse = 0.953
samples = 20
value = -1.242

mse = 3.186
samples = 122
value = -0.357

mse = -0.0
samples = 1
value = 3.311

mse = 0.104
samples = 15
value = -1.466

mse = 3.29
samples = 5

value = -0.372


